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1 175D QR ofiE
1.1 175D QR HfE

175D QR MR %3+ %, ZiUL LINPACK /L—F > DQRDC ¥ 721% LAPACK /L —
7 4 DGEQP3(#H174I12% L Tk ZGEQP3) THWOLNTWAFE~DA VX T = A AT
H D,

qr(x, tol = 1e-07 , LAPACK = FALSE)
qr.coef(qr, y)

qr.qy(qr, y)

qr.qty(qr, y)

qr.resid(qr, y)

gr.fitted(qr, y, k = qr$rank)

le-7)

gr.solve(a, b, tol

## 7 7 A qr 175 S3 AV YR
solve(a, b, ...)
is.qr(x)

as.qr(x)

1.2 QR 7 EDHBIREH
TNHOBKIE QR ATV =2 R EOITH X b L IIHMRESTTI Q, R KT,

qr.X(qr, complete = FALSE, ncol =)
qr.Q(qr, complete = FALSE, Dvec =)
qr.R(qr, complete = FALSE)

2 1THD%EIE (SVD) 57

2.1 1THDEHEESRE
B HATH O R BAB 5 R % 3HE S 5,

svd(x, nu = min(n, p), nv = min(n, p), LINPACK = FALSE)
La.svd(x, nu=min(n, p), nv=min(n, p), method=c("dgesdd","dgesvd"))




2/2 &

3 T30 LRXHNE
3.1 {FHOaLRIHE

FIEEAELF 5 XA THID 2 b A %53 (Cholesky decomposition) ZF15H 35,

chol(x, pivot = FALSE, LINPACK = pivot)
La.chol(x)

3.2 ALRXHNMRICKHHTIFE
SRR IE AT B 1E HATHIDMATHI 2 2 L R 4080 53R B,

chol2inv(x, size = NCOL(x), LINPACK = FALSE)

La.chol2inv(x, size = ncol(x))

4 BEERER#

4.1 =ATIRBOBRESERXEHES
NS OBEIIREATIG b - FEMATTHITH BT REAE L,

backsolve(r, x, k= ncol(r), upper.tri = TRUE, transpose = FALSE)
forwardsolve(l, x, k= ncol(l), upper.tri = FALSE, transpose = FALSE)




